Download Tech Of World App ~ WtsApp/Call- 8596976190

CHT- TGT PCM 2022

E-BOOK-PDF/

CHT- TGT CBZ 2022

E-BOOK-PDF)

6,000 MCQ B
*(/\

EXPLANATION

750 & Q& oda g4

100% qe () 100% acsel

CHT- CONTRACTUAL TEACHER (TGT ARTS) 2022
EXAM ! E-BOOK (PDF) 6,000 BEST MCQ ! CHAPTER WISE

CHT- CONTRACTUAL TEACHER (TGT PCM SCIENCE) 2022
EXAM !! E-BOOK (PDF) 6,000 BEST MCQ !' CHAPTER WISE

CHT- CONTRACTUAL TEACHER (TGT CBZ SCIENCE) 2022
EXAM !! E-BOOK (PDF) 6,000 BEST MCQ !! CHAPTER WISE

QUESTIONS & ANSWER

#9900 ¥99.00

Validity- 1 Year

English- 1500 (MCQ)...

ADD TO CART

Click Here

<& Tech of World M Q
HOME  VIDEOS  PLAYLISTS  COMMUNITY

2lie1 Channel 6Q 696 Video

ASO 6@aI6a’IR CT (3 B Ed
(3@6” 6aIda SSC GD J

TOW

Tech of World
SUBSCRIBE

315K subscribers + 928 videos
Hello QIEF ¢1I6R 1! 26192 Channel 68 99 4168 Educational Video
Free 68 606/0IR6Q 604 69619@A @RS 92 "Tech Of World" Channel § ...

+2 @4l +3 992 U6
600 K648 am

62RUIREQ ?

CT 8 B.Ed 96Q @€l ..W

How To Become A Teacher After +2 Or +3 In
Tow Odisha ? How To Get A Teacher Job In Odisha ?
Tech of World - 176K views - 3 years ago

] 3 @ &3 3]

Home Shorts Subscriptions Library

Click Here

Join Us-

QUESTIONS & ANSWER

more

#199.00 ¥99.00

Validity- 1 Year

Previous Year Question- 750 (2022, 2021 & 2019 Year)...

more

ADD TO CART

QUESTIONS & ANSWER

#199:00 ¥99.00

Validity- 1 Year

Previous Year Question- 1,350 (2022, 2021 & 2019 Year)...

ADD TO CART

Click Here

& Q

oo Tech Of World- (Odisha
Exam CT

Tech Of World

Your Review

sujit kumar naik
& XKXKRK 91

Edit your review
Developer contact v

About this app >

Tech Of World (Odisha Exam) Provides Mock Test &
E-Books For Different Exams

Education
3.8% (34 50K
422 reviews © 422 reviews Rated for 3+ ® Downlo

Mock Test

FECH OF WORLL

Click Here

1996 Oag Mock Test

Click Here

< &S Tech Of World

&) 4 1Ksubscribers

(O Leave a comment > °

ASO Englsih 2022
By...

ASO General
Knowledge 2022..

ASO Math 2022 By
Techofworld.In.pdf

ASO Odia Languge
@ 2022 By...

ASO Reasoning
2022 By...

N
>

Q)
)

Click Here



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://telegram.me/techofworld
https://www.youtube.com/c/TechofWorld
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://www.youtube.com/c/TechofWorld
https://play.google.com/store/apps/details?id=com.tech.edu
https://telegram.me/techofworld

Download Tech Of World App ~ WtsApp/Call- 8596976190

Setld: 76325 5 06 Mar 2022 Batch1 TGT Science PCM

Section 1 - Paper | General Knowledge and Current Affairs

No. of Questions: 15

1) Who among the following are the beneficiaries of the new Balaram Yojana launched by the Government
of Odisha in 20227

A) People below poverty line
B) Landless farmers

C) MNREGA workers

D) Fishermen

1) GaRee aag, 2022 AdeI6a B34l ARAAE FIQ! 2GR RYRI §OF IRAIF CAIFAIA ERAFIER TR 216572

A) QIRQ QICIEAS G6R 2 ERRCIER
B) @fieie qee

C) MNREGA @¢i1

D) ciayaiaqt

2) In August 2021, who among the following wrestlers won a bronze medal for India under freestyle 65kg
category at Tokyo Olympics?

A) Sushil Kumar
B) Bajrang Punia
C) Vijendra Singh
D) Yoheshwar Dutt

2) 2918 2021 6@, 69136 ARAFER TR 65 F6NIGIF IF6R AAG AR FIAYS QIR AIRT FUQ @4 691 T9Q
Foeem?

A) Q8IR IS
B) egaar g&a
C) Geag &°

D) sn169199 98
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3) Which scheme has been launched by the Govt. to protect elderly persons aged 60 years and above
against a future fall in their interest income due to uncertain market conditions?

A) Prime Minister Old Age Income Scheme

B) Sardar Patel Old Age Pension Scheme

C) Pradhan Mantri Vaya Vandana Yojana

D) Shamaprasad Mukerjee Old Age Income Scheme

3) 60 o ¥8° 09T Q0 R GG FFIQ Y 625 VIVIEER AT G 2AA LYAR AV FAQ AR 68R 6LIFG
ARRNAE FI9 2R FAUARE1?

A) QISR QEIREI 21K 6N

B) a<ia a6em QEISQI 600AR SIS
C) QRIKANF Q0 Q01 6AIFG

D) quieIgaI@ gelis] 9RIeg! 2 6AFS!

4) Electric potential energy is measured in which of the following units?

A) Ohm
B) volts
C) Joule
D) Ampere

4) FORYE CRIQ 604 YAT6a 63910% 36 93 I FAUAIN?

A) 6el

B) saupq
C) g

D) aindaq

5) Which of the following options is the other name of the Northern Kalinga region of ancient India?

A) Karnata

B) Pataliputra
C) Gondwana
D) Utkala
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5) GORYC FRYEFR IR 699G Y11 VISR AAR FaT TR AR FIEl 2A6S?

A) adie
B) aic@ge
C) squgaiql
D) age

6) Who among the following rulers embraced Buddhism after the famous Kalinga war?

A) Ashoka
B) Bindusara

C) Chandragupta Maurya
D) Pulakeshin Il

6) 93 QP 98 96a AIRYC JIARAINE ARIQ @4 6418 A g8 *GeR?

A) 26819

B) Ggaia

C) 099 &1y
D) gneedq §ot1a

7) Which of the following lake is located in Russia?

A) Superior
B) Great Bear
C) Michigan
D) Baikal

7) GIRYS B2 AUIQ 6RRE QUR 2QTG7

A) g8t0
B) 699 Q1219
C) deaiq

D) cloaa
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8) What type of Justice does the Preamble in the Constitution, promise to the people of India?

A) Personal
B) Social

C) Procedural
D) Regional

8) AARJIGR YY) NIRSR FAARIAAF 699 INIAR AR YTFF @a?

A) Q480e
B) aqi@e
C) ggaiee
D) a1gqe

9) Which of the following statements is CORRECT with reference to Directive Principles?

A) They are enforceable in the courts

B) They can create any justiciable rights in favour of individuals
C) They are fundamental to the governance of the country
D) They can never be implemented by legislation

9) FORYe TGRSR FIQ 6RAE F6aRM JFIN ALEER O] 2687

A) 6Qg@e 621F6a AR 626

B) 6aql6r 6a161d Q4@ A0R6R 696wI6Q Qg AYRIQ & KAAIRER
C) 6aclier 629 SIA8 A6 6413 263

D) 629@@ 2IRe FIQ 6R6Q626M AR 62ARARL QIF

10) Which Union Territory has become the first in the country to integrate with National Single-Window
System, a digital platform that helps investors get government approvals for projects?

A) Chandigarh
B) Andaman and Nicobar

C) Jammu and Kashmir
D) Lakshadweep
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10) 609 629 SI36 2B 629Q YT FIG1A I9e-G6g AF ATG IF1QE 62IRAIGE AT IR FFIIR
QSDE, 6DR0I6Q FERARANAG RE IR QRN AFEAIRR ARIER ALY F6a?

A) 080e

B) a1giq1e 9e° §6219Q
C) a1 QIgia

D) uaigia

11) Good Governance Index 2021 was launched on 25 December 2021 by which of the following Union
Ministers of India?

A) Nitin Gadkari

B) Amit Shah

C) Dharmendra Pradhan
D) Piyush Goyal

11) Q@9 9196 AGCIRaI JoRIE G76R TAUARIYQ VIGSR 69Q 679 FRIT IRl 25 F6aa 2021 61 2aw
QAULAIRER?

A) 368 aeaal
B) afic ail

C) u66ig Qi@

D) 019 eqigm

12) Which was centrally sponsored scheme launched in 1995 for providing financial assistance to the
elderly, widows, and people with disabilities?

A) Special scheme for women and elderly people

B) National Social Assistance scheme

C) Bharat Social Scheme for widow and elderly people
D) National Widow and Disabled Program
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12) @8, QeIGI IG° QRAACIAT 28R AAAG! 6QIGIRR! AIR 1995 AR 7R 6RL1D YISAITES AR QR
QAUARYMI?

A) CERI 98° QRAIRE AR 99T 6AITR!

B) qIo1at AQIGR QIGE! 6QI80

C) QuQl 9e° QRAINE CIR YIRS AINIFR 6AIRE!
D) 610 Gl M&° 2AF RILIFA

13) Identify the INCORRECT statement with reference to the chemical element Mercury.

A) Itis the metal which is found in liquid state at room temperature
B) Itis also known as quick silver
C) Itis used in thermometers

D) Itis a chemical element with symbol Ag

13) QIAVFR AR AR AN 9M ABTY F26 *ag?

A) 9@l 6298 IR AIP AIF 6RI0QT FIACIGIER AR ALRIER FRaN
B) 9@ g Qal QIe6a (1l @4IgSI

C) 9@l 266186068 Q1Qge 94

D) 921 9@ QIQI9Ge 2AIQIe IR g91e Ag

14) Chandihara Yayati || who started the construction of the famous Lingaraja temple in Bhubaneshwar,
belonged to which of the following dynasties?

A) Ganga
B) Somavamsi
C) Sailodbhava
D) Gupta

14) 08210 AT §010, T4 9R6AIa6a JIR ATAIR FRQ Fld 2R FRYER, FIRYE 692 AUFF°FR J6R?

A) qgr

B) saicieue@
C) cdeqion
D) qg
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15) Which of the following statements is/are True?

A. There are 204 islands in the Bay of Bengal called the Andaman and Nicobar Islands
B. There are 56 islands in the Arabian Sea called as Lakshadweep islands

A) Statement A is True, and B is False

B) Statement A is False, and B is True
C) Both the statements A and B are False
D) Both the statements A and B are True

15) QRS 98 GP@ TUIQ 696G AN A6T?
A. QEGNAAFNER 204 G 910 2R QIRIQ AVAIR 9° FERITQ F1AYS QI

B. 2IoQ QAIFQEQ 56 G 910 A CIQIG MV §RIANI

A) @@ A ag, 98° B dal 266
B) @@ A dai, 9e° B 9% 26

C) aaa 2@ A 9e° B fau 269
D) @ 2@ A 99° B Q4 269
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Section 2 - Paper | Reasoning Ability

No. of Questions: 10

16) If the cost of 17 toys is ¥ 272, then what would be the cost of a dozen of toys?

A) % 144
B) Z 192
C) Z 204
D) 272

16) 9Q 17 G 68IRRIQ MY 6298 T 272, 6669 1@ 2T 6HURAIR Y 626 62Q?

A) Z 144
B) 2 192
C)Z 204
D) 272

17) For an admission to a diploma programme, the following criteria is seen.

1. The candidate must have 60% and above in 10th board exam.

2. The candidate must have 60% and above in each of the subject Maths, Physics and Chemistry.
3. The candidate must have 70% and above in Maths Physics and Chemistry put together.

4 The candidate must have been born between July 1998 - July 2000.

If all conditions are satisfied except 4, the candidate must get age relaxation certificate from the district
educational officer.

If all conditions are satisfied but if the grades were awarded then a equivalent conversion certificate must be
obtained.

Ram Kumar has cleared his 10th board exam with 82% overall and has 85% and above in all subjects
except Mathematics.

What decision can be taken about his candidature?

A) Selected

B) Rejected

C) Data insufficient

D) Needs to obtain grade conversion certificate
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17) @6Qell TICIFF6R AR IR FY6R FAUAIRR AIFLYFR 6QSIAIRI|

1.91E1 1061 6916 AVIEQ 60% IG° 2RIA KA QeI 2SR
2.g1eh 2@, aQld SRIF 99° QAILE GRS JERR FTAER 60% IS° 2R AR QYS! 2SR
3.91e1 2, 99l A8I9 96° QAN ARINEA TG VIR 70% I&° 2R AT QHESI ALEYR|
4.2 giell gaia 1998 - gAIR 2000 F1IER §F 62IRYGI 2ILEYR]

9@ 4 QBT AN A8 YQEI 622N, 6569 I JIgl GRI FFI AYRKIAIFOIQ YU 6RILR ATTERS 2GS 2SR |

A QAL AQ YRl 6TRAN IS° 650gER QAULIRAN 6661 AAFRY QARG ATTERS AAR UL AR

QU FAIQ AR AER 82% KR AY @9 6916 ARIY QA1 6TAREE UG 62R T Y16 A FTAER 85% IQ°
AP A QYSS

QISR 9IU1Q YUA6Q 2§ HAE FAARARR?

A) 008 @Ide

B) gouigiie aqude

C) ca 96218 Q6%

D) 692 QI8¢ ATTERT AN KAQ! 2SR

18) The next number in this sequence is 4, 10, 18, 28,

A) 40
B) 42
C)35
D) 29

18) 4 A1 AQRR LT 628 -
4,10, 18, 28,

A) 40
B) 42
C) 35
D) 29

< » f
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19) . Which is the odd one out among the four?

A)

C)

N

19) 4@ QI6aIT FIIQ 69AE G 216672
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20) @ GI6RIT F1RIQ 6RAE @R 21687

A) daa
B) caqiai
C) age
D) queera

21) Ais twice as fast as B in doing a job that can be completed in 24 days if A and B work together. How
many days will A take to complete the job alone?

A) 24 days

B) 36 days

C) 72 days

D) 96 days

21) 6915 QIKIQ B 9R716Q A Q098 91g @423, ARG 9@ A 99° B fRe QI96a QIdi 208 24 956Q 689
62IRAIGRI 6969 1GT2 A @ RIY AF AR AN 6260 F@ T?

A) 24 Gg
B) 36 @e
C)724@e
D) 96 Ga

22) If 6 men get % 2,100 in 15 days as wages, how much would be given to 12 men for 24 days as wages?

A) Z 4,260
B) 5,490
C) 2 6,720
D) 7,470

22) 9@ 6 94 B AIGGTR WK 15 36 T 2,100 AIAIT 6669 24 A8 AR 12 8 NPT 6@66 ARYHR daTQ?

A) 4,260
B) % 5,490
C)% 6,720
D) Z 7,470
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23) Study the following information carefully and answer the question that follows:

A Research Institute is recruiting a librarian to digitize its information resources, among other duties.
Candidates must possess the following criteria. The candidate must
I) be not less than 35 years and not exceed 40 years as on 01.11.2009.

Il) have Bachelor’s Degree in Library and information Science with 65% marks.
[Il) have PhD in Library Science.

IV) have post qualification experience of at least 4 years in a University Library.

However, If the candidate fulfils the above mentioned criteria except

A) (II), but has a UGC NET certification with all other above criteria fulfilled, he/she may be referred to the
Dean.

B) (IV), but all the eligibility criteria are met and candidate has at least one years experience in a research
institute, he/she may be offered contractual appointment for a year.

Based on the above criteria, study carefully whether the following candidates are eligible for the recruitment
process and mark your answer as follows. You are not to assume anything other than the information
provided in each question. All cases are given to you as on 1/1/2009.

Mark Answer (1) If he/she is to be shortlisted.

Mark Answer (2) If he/she is not to be shortlisted.

Mark Answer (3) If he/she should be referred to the Dean.

Mark Answer (4) If he/she may be offered contractual appointment if required.

Anil Rathi has a doctorate in Library science from Karnataka University in 2003. Born on July 21, 1967, he
graduated in Library and Information Science from Karnataka University, where he has been Assistant
Librarian for Four years since 2005.

A) 1
B) 2
C)3
D) 4

23) 396 FUKIRYS ORI UIRYLR AUAR @A IQ° Q12 96R FUAIRASI 4R Q0R F2F :

1@ G69a4l gEAIR 12 gor @ageq Gasias el a8e ARy @Iy IR 968 AREIFRI] FYS *Qad | glelieIee
NP AI92E JR¢ @Qeal 2LFIR| YIE 62X 2SR

) 01.11.2009 9=l QU 256160 35 QF Q WF 6LIRREYR IQ° 40 QUQ 2R 6TIRGIS|
Il) ANREIRT IL° RRTEAAR ARFER 65% AR AGG 0@ &1 A1

1) AIREYQT ARFER IS @RE6a|

IV) 6QIG1401 2IAR T6Q AFRFER IR JIAMIRA NRACTAIEE 4 AFQ UGRS Q22|

284 9 gidl RaQ QEe AIRREYER Jad @98,

A) 2A6QIB (1) Q4019, @F FIFQ AR AFY AUCAIB FIRYS Yok 621 AT 9T 694 ATTERS 0%, 0 Faw FR0q
QOINQAAAR

B) @u6als (IV) Q4615, @g AA3 6KISC! FIRGE Jad 62108 1e° gIdIea 96d6l goaIner 25arsq 1 9de 2RRe!
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Q@8 oI @ °F AR OR6Q Y8 FAUARI6R

QUEAIB FIRRE ZRIGER, ARYLIR FPIQ F0G 69 FIRNYS il FYB 9T AR 6AITY @ QI 9e° Feea GRS
2QUILl UG @8Q T8¢ @l 2ITdg 966 J96a TRIKINQI JoRl Q4916 2R 6x1d Ta9 A 6091 @l aAgaIR
RIINAIG 629 AIR| 1 AN AGE 2AGT 1/1/2009 29I FAUAIRF

94 64 QRIAE PINFIPS 626Q 606Q QB (1) F8e @ag!

A3 62 QBIAE GIRRIPS 6269 AIT 6669 QA (2)536 *eg!

93 QI Gaa dIgq A0IFQl RER 6660 QAR (3)5%6 @ag!

93 219494@ 99 9IF ORI6Q FYB GALIRAIER 6569 QR (4)05F @0

250 Q2 Rdice F9RURAR 2003 FATIER ARCTA ARAFEH BT 0BG 62 FAIR 21 GIGE, 196760 83924
@0a8, adioe ghedtq NIRRT 2 RATTEAAR ANYER ISR NN FAEE 6ACEEaeR @ 6 2005 AA2IQ 4 oF AR
2L ARCIAIR NAMBA R FQEE|

A) 1
B) 2
C)3
D) 4

24) Complete the series:
13, 16, 38, 7, 504, 2535

A) 120
B) 123
C) 122
D) 121

24) GoRge 368 g Q94 @9
13, 16, 38, ?, 504, 2535

A) 120
B) 123
C) 122
D) 121

< » f
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25) Which is the odd one out among the four?

X8| |

(a) (b) (¢) (d)

A) a
B) b
C)c
D)d

25) N2 G16QIG F1IQ 6QAG Q7?7

|||

(a) (b) (¢) (d)

A) a
B) b
C)c
D)d
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Section 3 - Paper | Computer Literacy

No. of Questions: 10

26) Which of the following key should be used to begin a new paragraph in word documents?

A) Shift

B) Ctrl+Shift
C) Shift+Alt
D) Enter

26) €I GQU6FIL6R IR GO AGERS AINA KUY FIRYS AUQ 62Q KEY 4e2ia @aidal a8]?

A) Shift

B) Ctrl+Shift
C) Shift+Alt
D) Enter

27) Which is not a hardware?

A) Operating system
B) CPU

C) Keyboard

D) Hard disk

27) 699G 269U G622

A) 2a606° daq
B) CPU
C) &1 691€

D) @i¢ &%,

28) In which of the following areas can computers be used?
|.Business

[I. Banking
I1l. Education
IV. Health Care

A) |, Il and Il only
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B) 11, [l and IV only
C) I, llland IV only
D)1, I, Il and IV

28) GAYO FIQ 6R9 6IAYIYTER PR MGV FAUAIRAIRG?

195609

Il QuIGe

lIl. €

IV. QIgy 62<

A) 629 |, 11 ae° I
B) 6@a@ II, 111 9g° IV
C) e@aa |, 1l 9e° IV
D) 1, 1, 11 98° IV

29) It is system software that manages computer hardware and software resources and provides common
services for computer programs is known as

A) Peripheral Device
B) HANs
C) Operating System
D) LANs

29) 921 9@ J80 AYLEAIQ, QIR FYITA VICCUAIR IS ATLIAIQ F8F AFLINAI F6Q IS° RHITR 67197 AR
QARIGE 64R YLIF F6Q, GILI A6l NUET FEIIEEII?

A) 6aG6TaIn GRIRY
B) HANs

C) aa6as° daq

D) LANs

30) Which of the following is not a product of Google?

A) Duo

B) Meet

C) Hangouts
D) Teams

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

30) FORGS I 6966 Google @ QIR 6w?

A) Duo

B) Meet

C) Hangouts
D) Teams

31) Which of the following is the CORRECT extension for PowerPoint show?

A) .ppt
B) .pps
C) .pot
D) .png

31) PowerPoint Show il RS AUQ 6006 A0} FAUR(YFECYR) 26E?

A) .ppt
B) .pps
C) .pot
D) .png

32) Which of the following can't be connected through a USB Port ?

A) External Hard Disk
B) Pen Drive

C) Graphic Card

D) Gaming Joystick

32) SIRYS TUQ 6RRE IR GIATF 6QIC FIIFIER A°EIFE 62RAIRR QIF?

A) 901N 216 8%
B) 6ag a9

C) QI&] @18

D) 6adi° 28]

33) What does "http" stand for?

A) hypertext twisted pair

B) hypertext transfer protocol
C) Hyperlink transfer placard
D) Hyperlink transfer protocol
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33) " http " Q GRS QE1?

A) hypertext twisted pair

B) hypertext transfer protocol
C) Hyperlink transfer placard
D) Hyperlink transfer protocol

34) Which among the following is an identity platform, that is one of the key pillars of ‘Digital India’, wherein
every resident of the country is provided with a unique number based on their biometric based identity?

A) UAN

B) Aadhar
C) PAN

D) Passport

34) FORYS AR 6T 6208 1@ UGeA GIOTS, AITl 6208 'GRTIN A8 A IR I 92, CIALER 6N Y6RYR
QIAQIG 6ATIRER QICAICATR 2IRUIAS VALY QACAG @Q IR 2GR A°GYl QIR QAILIN?

A) UAN

B) Aadhar
C) PAN

D) Passport

35) What do you call a software application that is used to view Web pages?

A) Web browser
B) Search Engine
C) The Internet
D) Mail Client

35) 64Q 60g, QY RARIF FIILE 62AYYSI ALEEAQ 2IYEAAR § }¢ §LT?

A) 66Q 91089
B) a¢ @@«
C) aea69q
D) saq qrag
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Section 4 - Paper | Pedagogy and Evaluation

No. of Questions: 15

36) Since classroom normally means a group the teacher adopts

A) learner centered approach

B) group centered approach

C) individual centered approach
D) organization centered approach

36) 6541192a 2¢] ARINEIFS IR 66T, 60RL6a IR 9T 2GS 28 K93

A) dQ1 6259 a1V
B) 6q191 635 2Ses
C) Q43010 6a5R AR
D) @°c0% 6&9@ 2R

37) Where the size of the classroom is more, the method of teaching is likely to be

A) Lecture

B) Discussion
C) Projects
D) Seminars

37) 6990162 6561192Q 2R 2R, 6A0I6R FVIAR YHIR! FAG 620 ARG 2AF?

A) agal

B) aiemioql
C) gee

D) saficia

38) Standardized tests are conducted

A) to compare and rank test takers in relation to one another
B) to determine local standards

C) to measure only emotional disabilities

D) to examine only written ability
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38) FIQR IS RIFQ SQUAIN?

A) 0e9Q AU6a ARIVAIRIRG GRAI I9° QIR AR
B) aigia aie Ada a@qlq

C) 6@9@ Q°6Q0I9e AVAQ AIQIQ

D) 6aen A4e @86 918 RARIg

39) AAL stands for

A) Assessment for learning
B) Assessment as Learning
C) Assessment of learners
D) Assesment of learning

39) AAL @ G2IQ QO 628 -

A) 21696018 TR MEE
B) 2leaQssig 2] aaer
C) 2l6aq6ag 2 aad
D) 216aq691q 2 aaer

40) Although ICT and multimedia are very good resources of learning but teachers use it in a limited way
because it is

A) a costly affair
B) less engaging for children

C) leading to reduction in attendance percentage.
D) hampering mode of communication

40) 9@6 ICT 9e° RFICEI dYIQ @96 Om @2 @ JFNRCIER LI AIFe QUINEA IR KQE [l 12 62T -

A) Qya QI

B) dauaieg @f QU2 a6d

C) @agIe §0@eIq QI 2RI
D) saigisaigsa il Q& @69
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41) Which of the following test is used to identify the learning difficulties of learners?

A) Portfolio Test
B) Stressful Test
C) Diagnostic Test
D) Probable Test

41) dRiEivieaa 498 29RIQ 589 QIR FORYS ANINE AUQ 6966 IALe 997?

A) 6QIG6TIRG ANFE
B) c1ag)2 014

C) 65Q18@ 9914

D) aaiey ao1gél

42) All of the following increase the effectiveness of teaching EXCEPT:

A) A teacher's voice
B) A teacher's gestures
C) A teacher's anger

D) A teacher's appealing personality

42) IRYE FIQ 6RAT MR1E QIR AL VNN ANINAGIG QIR 2I2AIT?

A) d9@ K9 99

B) d9@ ada agraen

C) d9@ *9a 6gl

D) da9@ edeq Q€8N NBQ

43) In a classroom praise, blames, grades, are reinforcers to

A) motivate students
B) annoy students
C) control students
D) scare students
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43) Q@ 68615260 F6°Q, 6Q1F, 6@ FIRYE] 9R1AAE F6Q

A) 218AI9G QATE FALIER
B) gigring Gae @Q9Isa

C) s1gq19g G038 A1
D) gigring eawle 209160

44) When two or more than two students join together to achieve some specific objective in a class it
involves

A) individual teaching
B) parental teaching
C) biased teaching
D) team teaching

44) 696366 R @C]l YRQ AR BIF IR 6416Q @8 FRL AEREY AN KRG UG FAB, 6069 VYER @'l AIRD
260?

A) Q4396 AR
B) deicicis daIQie
C) agaigel daiQle
D) soig1@@e dQ1Qie

45) Who said "A project is a wholehearted purposeful activityproceeding in a social environment"?

A) W.H. Kilpatrick

B) John Dewey

C) Mahathma Gandhi
D) Swami vivekananda

45) "gas 1@ 290941 QLSRR AITIRRIQ, LT ARIFR AREIER SIEN" RI2l YR QAIAINMI?

A) 6Q4 98 GRAIGR
B) ac &6

C) aiqy qus

D) qieil Geariea
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46) Which of the following is TRUE according to constructivist prespective?

A) Learners become passive participants

B) Learners take care of teaching & learning
C) Learners become engaged participants
D) Learners dilute the learning process

46) QERIQI91 QE6@Id AQUIN HIGRW FRIQ 699C A0R 216672

A) daieaiee G§a erageaeial gaal

B) daidiicics dniQie Yo R4 96 H23|
C) daieiivice FeaIRe eragadaial gad|
D) daichaiee 496 9&0Ig 212 @e&I

47) Piaget suggested that there are four main stages in the cognitive develoment of the children. Out of that
the first Stage, i.e. the sensory motor stage is for the age group

A) 0-2 years

B) 2-7 years

C) 7-12 years

D) 12 years and above

47) GRININTR KNGS FIF6Q 6T o aduig 28 QIR 26w UK 6983 | 6QYTUQ T AYIB, Kl -
LERARIR GIF (6296AIR 6716Q) Ty FYRYE 90D 6941 AR AFS

A) 0-2 od

B) 2-7 o¢

C)7-12 @d

D) 12 od & Q%

48) Which of the following is NOT a feature of Bruners theory of instruction?

A) Structure of knowledge
B) Predisposition to learn
C) Effective sequencing
D) Neglecting the details
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48) FONYS F1AIQ 69AT §ad FERER IR 67Ty Q6<L?

A) RI9Q Q0Q

B) dada 9egedas!
C) gaieaie1 g

D) a@6a8 29624

49) Which of the following statements about assessment is CORRECT?

A) Assessment is equivalent and limited to evaluation.

B) Assessment is integral component of learning

C) Assessment is equivalent and limited to notebook checking.
D) Assessment is equivalent and limited to daily remarks.

49) SR8 FEL6R FIRYS QBYER AR 695 A0K 26T?

A) AR08 GRUILE A6 AAGRY I° QIS 266
B) $8104 d96Q 236824 QRIS 263

C) ARIQg 62199R JIEQ AAGNY Ie° AIFE 263
D) Gaiag 698e §adia argay 96 QIfie A6s!

50) ‘childcentered-education’ emphasises on
1) reach
2) touch
3) teach

A) Only 1

B) 2and 3
C)1,2and 3
D) Only 3
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50) ‘G4-6@5@-93' GRQ 69D
1) 9g8Ql

2) ad

3) SRR

A) 6297 1
B) 2 g° 3
C)1,249e° 3
D) 6ae@ 3

.
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Section 5 - Paper |l Physics

No. of Questions: 30

51) An electric wire of length ‘I' and area of cross-section 'a’ has a resistance R ohms. Another wire of the
same material having same length and area of cross-section '4a’ has a resistance of

A) 4R
B) R/4
C) 16R
D) R/16

52) When the length and area of cross-section of a conductor are doubled, then its resistance will

A) become half

B) be doubled

C) remain the same
D) become four times

53) Lenz's law is consequence of the law of conservation of

A) charge

B) mass

C) energy

D) momentum

54) When the distance between two charged particles is halved, the force between them becomes

A) One-fourth
B) Half

C) Double

D) Four times

55) The mass of a satellite is 7.34 x 10?2 kg and the radius is 1.74 x10% m. The value of gravitational force
will be

A) 1.75 N/kg
B) 1.45 N/kg
C) 1.55 N/kg
D) 1.62 N/kg
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56) The quantity which is a measure of the rotational inerta of the body and has been put to a great practical
use in machines is

A) Moment of Inertia
B) Torque

C) Acceleration

D) Power

57) A friction comes into play when a body just begins to slide over the surface of another body and this
maximum value of static friction is known as

A) Limiting friction

B) Angle of repose

C) Rolling friction

D) Sliding friction

58) The force which resists motion when the surface of an object comes into contact with the surface of
another object is known as

A) Kinetic Energy
B) Friction

C) Work

D) Collision

59) If the angle of incidence of a ray of light in a denser medium is such that the angle of refraction in the
rarer medium is 90°, then the corresponding angle of incidence in the denser medium is known as

A) total internal reflection
B) reflection

C) critical angle

D) refraction

60) Whatever be the position of the object, the lens which produces virtual and errect image is

A) concave

B) convex

C) concavo-convex lens
D) plano convex lens
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61) Astronomical telescope which is used to view distant objects has two convex lens such that the focal
length of the objective is

A) equal to the focal length of the eyepiece

B) greater than the focal length of the eyepiece

C) shorter than the focal length of the eyepeice

D) five times shorter than the focal length of the eyepiece

62) What is the Young’s modulus of a perfectly rigid body?

A) Zero
B) Infinity
C) One
D) Finite

63) A wire stretched between two rigid supports vibrates in its fundamental mode with a frequency of 45 Hz.
The mass of the wire is 3.5x1072 kg and its linear mass density is 4.0x1072 kgm™'. The tension in the string

will be

A) 230 N
B) 248 N
C)224 N
D) 221 N

64) Certain waves do not reguire a material medium for their propagation. Example of such a wave is

A) radio waves
B) sound waves
C) water waves
D) seismic waves

65) The sound waves whose frequency lies between 20 Hz to 20000 Hz are called

A) infrasonic waves
B) audible waves
C) ultrasonic waves
D) pressure waves
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66) There are n similar conductors each of resistance R. The resultant resistance comes out to be 'x' when
connected in parallel. If they are connected in series, the resultant resistance comes out to be

A) x/n?

B) n?x

C) x/n

D) nx

67) When a bar magnet falls through a long hollow metal cylinder fixed with its axis vertical, the final
acceleration of the magnet is

A) equal to zero

B) less than gravitational acceleration ( g )
C) equal to gravitational acceleration ( g )

D) greater than gravitational acceleration ( g )

68) A beam contains 2 x 108 doubly charged positive ions per cubic centimeter, all of which are moving with
a speed of 10° m/s. What is the current density?

A) 6.4 A/m?

B) 3.2 A/m?

C) 2.6 A/m?

D) 2.0 A/m?

69) An electron falls through a small distance in a uniform electric field of magnitude 2 x 10* N/C. The

direction of the field is reversed keeping the magnitude unchanged and a proton falls through the same
distance. The time of fall will be

A) same in both cases

B) more in the case of electron
C) more in the case of proton
D) independent of charge

70) A sphere of radius R has a uniform distribution of electric charge in its volume. At a distance x from its
centre, for x < R, the electric field is directly proportional to

A) 1/x3

B) 1/x?

C)aE

D) x
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71) An object wieghs 700 gm-wt on the surface of the earth. How much will it weigh on the surface of a
planet whose mass is (1/7)" of mass of earth and radius is half of that of the earth?

A) 200 gm-wt
B) 50 gm-wt

C) 400 gm-wt
D) 300 gm-wt

72) The value of g on the earth's surface is 980 cm/s2, Its value at a height of 64 km from the earth's surface
is

A) 960.40 cm/s?

B) 982.92 cm/s?

C) 942.44 cm/s?

D) 987.56 cm/s?

73) The amplitude of a particle which undergoes simple harmonic motion and performs uniform circular
motion of radius 15 cm is

A) 15 cm
B) 7.5cm
C)30cm
D) 3.75cm

74) The greatest height 'h' to which a body can rise when projected upwards with a velocity 'u' is

A) u/2g
B) u?/2g
C) u?/g

D) 2u?/g

75) For "total internal reflection" to occur, the incident light must travel

A) from rarer to denser medium
B) from denser to rarer medium
C) within rarer medium only

D) within denser medium only
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76) If 'c' is the velocity of light in vaccum and 'V' is the velocity of light in material, then refractive index 'u' of
the material is given by the relation

A)u=ch
B) u=cv
C)u=vlc
D)u=1/cv

77) If a liquid enters a section of tube of radius 5 cm with a velocity of 16 m/s, the velocity with which
another section of tube of radius 4 cm (assuming the tube horizontal)

A) 25 m/s
B) 50 m/s
C)12.5m/s
D) 100 m/s

78) The speed of sound in sea water is 1200 ms™". A ship sends a high frequency sound wave in sea and
receives an echo after 2 seconds. The depth of the sea at that point is

A) 300 m
B) 1200 m
C) 600 m
D) 2400 m

79) The intensity of sound depends on the amplitude of pressure variations within the sound wave. The
threshold of hearing for any human being is

A) 101" Wm?2
B) 102 Wm?
C) 102 Wm?2

D) 102 Wm-?

80) If a galaxy is receding from the earth, then the light from a galaxy as observed on the earth's surface
has

A) no shift
B) blue shift
C) red shift
D) violet shift
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Section 6 - Paper || Chemistry

No. of Questions: 30

81) What is the equivalent mass of sulphuric acid, by displacement method?

A) 31.5
B) 63
C) 49
D) 98

82) Which of the following indicates the reactant which is completely consumed during the reaction?

A) Limiting reagent
B) Excess reagent
C) Oxidant

D) Reductant

83) What is the conversion factor for 'Debye' to "Coulomb.metre"?

A) Debye(D) = 3.3356 x 10*-27 Cm
B) Debye(D) = 3.3356 x 10"-28 Cm
C) Debye(D) = 3.3356 x 10*-29 Cm
D) Debye(D) = 3.3356 x 10*-30 Cm

84) What is the formula for dipole moment?

A) Dipole moment = charge x distance of separation
B) Dipole moment = charge / distance of separation
C) Dipole moment = distance of separation / charge
D) Dipole moment = 1/ (charge x distance of separation)

85) Which of the following is an amphoteric substance?

A) HCI

B) H20

C) CHsCOOH
D) NH.OH
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86) Which of the following is the CORRECT equation?

A)pH+pOH=0
B) pH + pOH =7
C)pH + pOH =8
D) pH + pOH =14

87) What type of reaction is HCI + NaOH — NaCl + H,0?

A) Neutralization reaction
B) Precipitation reaction
C) Oxidation reaction

D) Reduction reaction

88) Which of the following indicates Noble gases?

A) Elements present in groups 1 and 2 in the modern periodic table
B) Elements present in groups 3 to 12 in the modern periodic table
C) Elements present in groups 13 to 17 in the modern periodic table
D) Elements present in group 18 in the modern periodic table

89) What among the following is called slag?

A) FeO
B) Fe;0s
C) FeSiOs
D) SiO;

90) In polyethene, monomer is:

A) ethane
B) ethene
C) methane
D) propene

91) Nitration of nitrobenzene gives:

A) m-dinitrobenzene
B) o-dinitrobenzene
C) p-dinitrobenzene
D) m- nitroaniline
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92) The Heteroatom in the compound Furan is

A) N
B) O
C)S
D) F

93) Which of the following is excluded from Colligative property?

A) Elevation of boiling point

B) Depression of freezing point
C) Lowering of vapour pressure
D) Increase in volume

94) What should be the ratio of radii in various Bohr orbits of Hydrogen atom?

A) 1:2:4:8
B) 1:4:9:16
C) 1:1/2:1/4:1/8
D) 1:1/4:1/9:1/16

95) The symbol that indicates the magnetic quantum number is:

A)n
B) |
C)m
D)s

96) How many atoms of calcium are there in 4 g of calcium?

A) 6.022 x 10721
B) 6.022 x 10722
C) 6.022 x 10723
D) 6.022 x 10%24

97) How many lone pairs of electrons and bond pairs of electrons are there in water molecule?

A) 2 lone pairs and 3 bond pairs
B) 2 lone pairs and 2 bond pairs
C) 2 lone pairs and 1 bond pairs
D) 3 lone pairs and 2 bond pairs
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98) Calculate the pKa of formic acid. [Dissociation constant (Ka) of formic acid = 1.77 x 10*-4 at 298 K, log
1.77 = 0.2480]

A) 3.248
B) 2.248
C) 3.752
D) 2.752

99) What is the balanced equation for the reaction,Cr.0742- + SO32- — (Cr3*) +S04/2- + H;0 (Acid
medium)?

A) Cr20742- + 2803/2- — 2(Cr3+) + 3504"2-+ H20

B) Cr207A2- + SO3/2- + H+ — (Cr3+) + SO4/2-+ H20

C) Cr20742- + 3S0342- + 8H+ — 2(Cr3+) + 3S04"2-+ 4H20
D) Cr20742- + 3S0O32- + 8H+ — 2(Cr3+) + 4S04/2-+ H20

100) Which of the following is a combination reaction?

A) Ca + 2H,0 — Ca(OH); + Hz
B) V.0s + 5Ca — 2V + 5Ca0
C) 2KCIO3 — 2KCI + 302

D) N, + 02 — 2NO

101) Which of the following species among Mg, Mg?*, Al and Al** have largest and smallest size?

A) Mg and Mg?*
B) Al and AR*
C) Mg and Al®*
D) Al and Mg?*

102) Which of the following indicates isoelectronic species?

A) Different ions having same number of protons but differ in their charge on their nuclei
B) Different ions having same number of electrons but differ in their charge on their nuclei
C) Different ions having same number of protons but different number of electrons

D) Different ions having same number of electrons but different number of protons
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103) What furnace is used in the extraction of pig iron?

A) Reverberatory furnace
B) Blast furnace

C) Puddling furnace

D) Bessemer furnace

104) What reaction is involved in Calcination process?

A) 2PbS + 30; — 2PbO + 2S0;

B) FeO + SiOz — FeSiOs;

C) Heating ZnCO3z — Zn0O + CO>
D) 2ZnS + 302 — 2Zn0 + 2S0:

105) Which of the following compound usually contains garlic odour, when it is prepared from calcium
carbide?

A) ethane
B) ethene
C) ethyne
D) methane

106) Which of the following compounds undergoes partial reduction to produce an alkene?

A) ethane
B) methane
C) alkyne
D) alkane

107) How many hydrogens are there in the compound one- propene?

A) 4
B) 6
C)8
D) 5

108) Calculate the pressure exerted by 10 moles of gas contained in 30 dm? flask at 27°C. (R=0.0821 lit atm
/ mol /K)

A) 0.821 atm
B) 8.21 atm
C)4.105 atm
D) 0.4105 atm
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109) Calculate the volume occupied by 2 mole of gas at 0.821 atm contained in a flask at 0°C. (R=0.0821 lit
atm / mol / K)

A) 13.65 lit
B) 27.3 lit
C) 40.95 lit
D) 54.6 lit

110) Identify the electronic configuration for (O)A2-.

A) 182 282 2p?
B) 1s2 2s? 2p®
C) 1s? 282 2p5
D) 1s2 282 2p®

< » f
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111) The equation of the line passing through the points A (2,5,8) and B( -1,6,3) is

B x-2 y-5 =-8
) 3 -1 5
B) \‘-1=_1'+1=:—1

2 -1 3
o) \—1=}.-+1=:—1

1 1 1

x-1 y+l =z-2
R T S

s i
— =80

112) Findnif¥*72 * . , n being a positive integer
A) 2
B) 3
C)4
D)5

113) Distance of the point (-6,8) from origin

A) 6
B) 8
C) 10
D) 2

114) The distance of the point (2,3) from x axis

A) 2
B) 3
C) 1
D)5

< » f
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115) Relation connecting the number of faces (F), edges (E) and vertices (V) of a prism

A) F-E+V=2
B) F+E-V=2
C) F+E+V=2
D) F-E-V=2

116) What is the ratio of the radii of spheres whose surface areas are in the ratio 4:9?

A) 1:3
B} 1:2
C)2:3
D) 3:2

117) What number should be added to 245672 to make it exactly divisible by 117?

A) 4
B) 3
C)2
D) 1

118) Which of the following is a prime number?

A) 153
B) 161
C) 173
D) 221

119) If a fair cubic die is rolled, then the probability that a perfect square number comes up is

A) 172
B) 1/3
C) 1/4
D) 1/5

120) If two unbiased dice are thrown, then the probability of getting a sum less than 6 is

A) 5/18
B) 6/18
C) 7119
D) 8/20
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121) Which of the following is guaranteed by the 'Fundamental theorem of Algebra' about the number of
roots for any polynomial of degree n?

A) At max n roots
B) At least n roots
C) Exactly n roots
D) No real root

122) A quadratic equation for which the product of roots is zero will have

A) no term with degree 1
B) no constant term

C) all the terms

D) no term with degree 2

123) Equation in which reciprocal of every root is also a root is called equation

A) cubic

B) biguadratic
C) reciprocal
D) standard

124) If :R—R is defined by f(x) = x/(x?+1) then f(2)=

A) 3/5
B) 1/5
C) 2/5
D) 1/3

125) Which term of the series 24, 21, 18,.... is zero?

A) gt

B) 10"
C) 11t
D) 12t

126) Which term will be the first negative term of the A.P. 24, 21, 18,...?

A) g

B) 10
C) 111"
D) 12
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127) If the number of elemets in Set A is 'n', then the number of elements in P(A) is

A) n?
B) 2"
C)n

D) 3"

128) Frequency polygon can be constructed after drawing

A) Ogive

B) Barchart
C) Histogram
D) Pie chart

sin"x+sin"ly=mw cos~lx+cos™ly

129) If find

C)o0
D) 1

130) Period of tan x is

A) /2
B)m

C) 4m
D) 2w

131) The equation of the sphere whose centre is (3, -1,4) and which passes through the point (-1,2,0) is

A) (e 3)(y-1)3+(z+4)=21
B) (x-3)2+(y+1)2+(z-4)%=41
C) (x-3)2+(y+1)2+(z-4)?=42
D) (x+3)2+(v-1)2+(z+4)2=21
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l-sinx

—»L COSX

(]

132)

A) 0
B) 1
B) =
D) 2

B3 =2
Lr( +X)

x—=0 L

133)

A) 1/7
B) 1/8
C) 1/10
D) 1/12

134) Length of the latus rectum of ellipse 3x?+y?=12

A) 4
B) 8
ey12
D) 16

135) Value of k for which (k+1, 2k), (3k, 2k+3), (5k-1, 5k) are collinear

A) 1
B) 2
C)0
D) -1

136) Area (in terms of ) of a circle which can be inscribed in a square of side 2 a

A) 4a?
B) 2a2
C) 3a?
D) a?
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137) If the sum of the circumference of two circles with radius a and b is equal to the circumference of a
circle with radius R, then

A) R=a+b
B) R=a-b
C)R=ab
D)R=al/b

138) What is the last digit in the expansion of 347%?

A) 2
B) 3
C)7
D)9

139) What is the total number of three-digit numbers with unit digit 7 and divisible by 11?

A) 6
B) 7
C)8
D)9

140) If P(A)=0.7, P(B)=0.4 P(A N B)=0.3 then P(A N B') is

A) 0.1
B) 0.2
C)0.3
D) 0.4

141) Three dice are thrown together. The probability of getting a total of at-least 6 is

A) 103/108
B) 104/107
C) 102/108
D) 101/107

142) The roots of the equation x? - px + q = 0 are reciprocal of each other if
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143) The Geometric mean of the roots of the quadratic equation x? + bx+c=0is

A) Vb
B) V¢
C)V(b +c¢c)
D) V(b x c)

144) Which of the following is one to one function?

145) Sum of the infinite series 1 + 1/2 + 1/4 +..... is

A) 1
B) 2
C)1.5
D) 1.75
1 1 1 1
146) The series  p 5p T30 ap

A) diverges for p>0
B) converges for p>0
C) diverges for p<0
D) converges for p<0

147) If A= {3,7,5,8} and B = {2,6,9} then how many elements are there in P(A X B)

A) 28

B)2°
C) 210
D) 2 12



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

148) 12 is the mean of a set of 6 observations and 7 is the mean of a set of other 4 observations. The mean
of the combined set is

A) 6
B) 8
C)9
D) 10

149) From a point on the ground, the angles (in degrees) of elevation of the bottom and top of a

transmission tower fixed at the top of a 20 m high building are 45 and 60 respectively. What is the height of
the tower?

A) 20

B) 20V3

C) 20(N3-1)
D) 20(V3+1)

150) Two angles of a triangle are tan™'2 and tan™* 3. What is the measure of the third angle (in
degrees) of the triangle?

A) 90
B) 45
C) 60
D) 135
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Question Paper No: 76325_5
Answer Key

1B 31| B 61 | B 91 | A 121 | A

2|B 32| C 62 | B 92 | B 122 | B

3(C 33| B 63| B 93 | D 123 | C

4B 34| B 64 | A 94 | B 124 | C

51D 35/A 65| B 95| C 125 | A

6| A 36 | B 66 | B 96 | B 126 | B

7D 37 | A 67 | A 97 | B 127 | B

8| B 38| A 68 | A 98 | C 128 | C

9|c 39| B 69 | C 99 | C 129 | C
10| C 40 | A 70 | D 100 | D 130 | B
11|B 41| C 71| C 101 | C 131 | B
12| B 42 (C 72| A 102 | B 132 | A
13D 43| A 73 | A 103 | B 133 | D
14 | B 44 | D 74 | B 104 | C 134 | C
I15[A 45 | A 75| B 105 | C 135| B
16 | B 46 | C 76 | A 106 | C 136 | D
17[C 47 | A 77| A 107 | B 137 | A
18 [ A 48 | D 78 | B 108 | B 138 | D
19| B 49 B 79 | D 109 | D 139 | C
20| B 50| C 80| C 110 | D 140 | D
21| B 51| B 81| C 111 | A 141 | A
22 |'G 320.C 82| A 112 | D 142 | B
23 (B 3|1 G 83| D 113 | C 143 | B
24 | B 54| D 84 | A 114 | B 144 | D
25 (B 55| D 85| B 115 A 145 | B
26| D 56 | A 86 | D 116 | C 146 | B
&% A 57| A 87 | A 117 | C 147 | D
28| D 58/ B 88| D 118 | C 148 | D
28 C 59| C 89| C 119 | B 149 | C
30| D 60 [ A 90 | B 120 | A 150 | B
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